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dx=8 cos53-=4 dy=d sin 53=6.4

d=8m, 53°
.8m m
F= Fx2+Fy2F=62+(-
8)2=10NB=tan-1 ( FyFx) = tan -1(- 6N 8N-
86)=3030 F =10N , 3030
cosB=vxv=10200—06= 450 v =200 10m/s vy = v sinBvy= 200sin 450=

m/s ,450 10m/s
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vy = v sing =0= 6 = sin-1 (0) =0 ,1800
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V =VXVX=V CcOoSB = v= vcosG:cosG 1 =6= cos-
1(1) =0
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Fx =Fcos 6 + Fcos 6 +Fcos & =4000%cos 1200 +4000cos1800+ 4000cos2100 =4
000%(-0.5) +4000%(-1) + 4000x%(-0.87) =-2000 -4000 -3480 =-9480N

Fy =Fsin 6 + Fsin 6 +Fsin @ = 4000xsin 1200 +4000sin1800+ 4000sin2100 =4000
x(0.87) +4000x%(0) +4000x(-0.5) = 3480 -0-2000 = 1480N
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FR =Fx2+Fy2 =(-9480)2+(-1480)2=9595N
s Qi s SN 8 LS U al) b Aliasdll olad)
8 = tan-1(FyFx) =tan-1( 1480-9480)=tan-1(-0.16) =(1800 -90)=1710



